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Q1: Pure water is: Q7: For the following equation:

|
|
(A)an element ;' (78-034) _
(B) a molecular compound I (1.15 + 0.82)
(C)a homogeneous mixture { the value of X with the correct number of significar
(D)a heterogeneous mixture | figures is: 4 5
(E) an ionic compound 1 (A)3.787 K= _‘1 6 = _i__-——
. e | (B)3.79 A9z 4}
. S - . . C)4
Q2: Which of the following is an SI derived unit: ( 2.8
(A)cubic meter “m>” for volume ;E))_’?SSO = 3807 =

(B) gram per liter “g/L" for density
(C)gram g™ for mass

(D)mile per hour “mi/h™ for speed
(E) Kelvin “K" for temperature

Q8: Three students (A, B and C) were asked t
measure 87.0 mL of ethanol with a graduate
cylinder. The student's measurements were a
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Q3: If the temperature is — 40 °F. its value in °C is: fOHOW:A = 5
A0 e e,
%B)) -8 k= ’%X Tt ® 87.1 86.9 87.7
©40  cr. 3x(T~32) 88.2 87.1 87.8
(D) -32 = “ ('-Y Which of the following is correct:
@_40 2 9 A(~40-32Y = ~40L x(A)Student A is the most precise and the leas
X S accurate

* (B) Student B is the most precise and student C is
the most accurate

« + (C) Student C is the most precise and student B is
the most accurate

x (D)Student B is the most precise and the least
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Q4: Knowing that the volume of a bubble is |
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(—-) if a bubble contains 0.105 g of a gas

and 1f the radius (r) of the bubble is 2.6 c¢m. the
density in g/L of the gas in this bubble is:

(A)1.25 2 BAZTMX (2l e\S
* (B) 1.98 = 285 —\{T-i_,ic—t-ﬁ”qfﬁg m x (E) Student A is the most precise and the least
(C) 1.43 = , c" accurate
D14 d2 WM, 068 § gioew” v T )
(E) 12.49 osg Ol —lﬁ |3 ©29: Which of the following statements is rrue?
=== = (A)AIl particles in the nucleus of an atom are
Q5: The number of significant figures in 0.07080 m. is: charged.

(A)Three (B) The atom is best described as a uniform sphere
+ (B) four of matter in which electrons are embedded.

(C) five (C) The mass of the nucleus is only a very small

(D) six fraction ot the mass of the entire atom.

(E) Two (D) The volume of the nucleus is only a very small

fraction of the total volume of the atom.
¢ (E) The number of neutrons in a neutral atom must
equal the number of electrons.

Q6: At a certain temperature, if the speed of sound is
343 m/s; its speed in km/h is:
«(A)1.23 x 10°
(B) 1.23 x 10°
(C)1.26 x 10*
* (D)2.10 x 10*
: (E) 1.30 = 10*
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Q10: The isotope of an unknown element.. X, has a
mass number of 79. The most stable ion of the iso-
tope has 36 electrons and forms a binary ionic
compound with sodium, having a formula of NaX.
Which of the following statements is rrue?
(A)NaX is a covalent compound
(B) The isotope of X has 35 protons

o (C) The isotope of X has 43 neutrons
(D) X is the krypton element, Kr
(E) The isotope of X has 43 protons

Q11: Which of the compounds NH4Cl, CCls. NF; and
BaF> is/are likely to be ionic?
(A)Only NH4ClI
(B) Only.NF;
*(C) Both CCls and BaF;
“(D)Both NH4Cl and BaF»

(E) Both CCls and NF;

Q12: Which of the following is true?

Substance | Protons | Neutrons | Electrons

(A) | '20sn 70 50 70

» | (B) | #Mg?t 12 13 12
(C) | 38Fe?+ 26 30 24
(D) | 32g2- 16 18 18
(E) 2= 18 18 18

Q13: The formula of hypobromous acid and of bromite
ion respectively are:

(A)HBrO; and Br0,
(B) HBrO and BrO~
(C) HBrO: and BrO*~
(D)HBrO; and BrO™

« (E) HBrO and Br0,

Q14: The name of the compound which has the formu-
la "FeCl3*6H,0™ is:
(A)Iron (III) chloride hexahydrate
(B) Ferrous (III). hexahydrate
(C) Iron (IIT) chloride water (VI)
» (D)Iron trichloride hexawater
(E) Iron chloride hexahydrate

Q15: Which of'the following name is not true:
v+ (A) Dihydrogen monoxide (water) H,O
~ (B) Carbon dioxide (dry ice) CO;
+ (C) Dinitrogen monoxide (laughing gas) N>O
~ (D)Hydrogen monoiodide HI
» v (E) Dinitrogen tetrachloride N.Cly




